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Instructor: James Cook , MA 241-003 Calculus II, Test I Integration, July 9, 2007

Directions: Show your work, if you doubt that you've shown enough detail then ask. No electronic
aids of any sort are permitted modulo your watch and a scientific calculator.

1. (40 pts) Integrate the following,

(a.) [zcos(z? + 3)dz (c) [yldz +3)%de (b.) [e* cos(z)dz (d) [sin®(6)do
2. (20 pts) Integrate the following using partial fractions, : -

fﬂ,ﬂ
3 - dx

3. (5pts ) Use the substitution u = sec(d) + tan(f) to calculate the following integral,

f sec(f)df

4. (15pts ) Use a trigonometric substitution to complete the following integral. For full credit
leave your answer in terms of algebraic functions as much is possible.

1
—_—— dx
f VI — 25
5. (10pts) Set up the partial fractions decomposition for the rational function below, do not
explicitly calculate the 4, B, C, ...
' T+23
fe) = E e s op

6. (10pts) Calculate the following improper integrals, 3pts for setting up limits, 2pts for infe-
grating and evaluating the limits, don’t panick if you can’t take the limit, all is not lost.
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for a bonus point sketch the areas calculated by the integrals above.

7. BONUS:(2pts) Calculate the following,
(3pts): { csc(ﬁl%ﬂ.
(20pts): [ty da, _
WARNING: don't even try this last one unless yon have everything else completely finished
and checked, this one is nontrivial.
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